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2 % Density 2.687 g/a 2AAF P.I NP A g4 0.M.C 10.4 (%)
MAEA  Liquid Limit NP (%) =4=A4=u(CR)  29.2 (%) A/NANDAPERSE) 273 (%)
2R Plastic Limit NP (%) HURAEBE g3 o/ AAFSw 1.1 (%)
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1. BT HA
= A H < 1 2 H] 31
v = " 9 H ol 40 42
Hl o & Wf (g) 41.245 44,070
HSH + /75 % Wai (g) 142.390|  145.267
Wais E%s W 2 Ti(C) 25.5 25.5
L Tx(C) o uf Bo] A%
@ L Ti(C) 1.000060| 1.000060
o v Eo U
\gi -Wf (g) 101.145| 101.197
ol &% (Tx)ol gk I3 %-m]H
imo Za Wax (g) = @ x 142.396|  145.273
2.8 F A 3
HSH + XA s + BY TF
[k ] =olee 158.107 | 161.020
Wh(g)
e A4 ueo] dawnge u
gmol % Tx(TC) 4.8 25.9
wAZ A5 T Wo (g) 25.006 25.008
T(CH)Y o Wo
59 HF(TC = 2.690 2.700
/ TTC) Wo + (Wax — Wb)
2rost &9 Uk (g/cr) 0.99697|  0.99697
& 9 9 =(g/cr) 2.682 2.692
_ (g/
¥ 4 % 2.687 o)
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= = 9 B3 2214.078 cnf A 5892.9¢g
9 2214.078 cir 5892.9 g
i} T 2.687
(AN B+E=)FAl(g) ! 2 | 10498.2 ! 3 | 10615.6
I 1
HA2A 257 (g) i 4605.3 i 47227
Aoy t(g/ar) i 2.080 i 2.133
lww: | 1198.9/DW: W : 1320.3/DW:
DW: | 1119.3/TW: |  186.9\DW: 1215.2|TW: 180.1
i 79.6Ws:  932.4w: 105.1Ws:  1035.1
- W: 8.5 W: 10.21
& 5 H = A | |
hyw: | 1122.9|DW: bpw: | 1301.1[DW:
| IDW: | 1049.4|TW:| 176.5 |DW: 1198.0|TW: 180.2
(W 73.5Ws:  872.9)W: 103.1Ws:  1017.8
! W: 8.4 W: 10.1!
I |
A 3hn] W(%) i 8.5 i 10.2
Az Yd(g/ar) i 1.917 i 1.936
D &7 = | |
A = w0 v g/on) o S e - ozt
(A B4+E )T (g) 4 10652.9[ L5 ] 10641.I[ ' 6 ] 10522.6
A2AZHFA () 4760.0 | 4748.2 | 4629.7
Ao Vi(g/en) 2.150 | 2.145 | 2.091
WW: | 1250.3|DW: byw: | 1156.7/DW: W 1116.5/DW: |
DW: | 1139.6(TW: | 209.2/pw: | 1033.2|TW: | 174.8|pV: 983.2|TW: 176.5|
Ww:  110.7Ws:  930.4w: 123.5 Ws:  858.4)Ww: 133.3 Ws:  806.7]
W: 11.9" W: 14.4" W: 16.5"
o 5 4 | | |
wi: [ 1289.3|Dw: byw: [ 1130.3|pW: byw: [ 1249.2|pW: !
DW: | 1177.7|TW: 205.1!DW: 1013.5|TW: 197.8!DW: 1096.4|TW: 177.1!
Ww: 111.6 Ws: 972.6|Ww: 116.8 Ws: 815.7|Ww: 152.8 Ws: 919.3]
W 11.5 W 143 W: 16.6,
H o shn] W(%) 11.7 | 14.4 | 16.6
AZA T Yd(g/cr) 1.925 | 1.875 | 1.793
o 7] = 3
o = w el e 2.044 1.937 1.858
B a1




Hong by

2.100
2.090
2.080
2.070
2.060
2.050
2.040
2.030
2.020
2.010
2.000
1.990
1.980
1.970
1.960
1.950
1.940
1.930
1.920
1.910
1.900
1.890
1.880
1.870
1.860
1.850
1.840
1.830
1.820
1.810
1.800
1.790
1.780
1.770
1.760
1.750

SRR
\
\
\
\
\
\
ZcjH=2E =1,936 C
\
L~ ] ™~
ol \I\ \‘
[
N
\
N
\
\
\
N\
O.M.C=10.4
\
6.0 7.0 8.0 9.0 10.0 11.0 12.0 13.0 14.0 15.0 16.0 17.0
at4e|

18.0



CBRA o =
Al d H S E176 NEEHA FAAE A
=5 NE2E] (BoiA] [BoiAwi] 2o [deas| a5 n [mede| AR
= =
A lecws| T M @ | @ | @ | @ | @ | @ | @
T (g)
3X17 31 9681.7| 5588.2| 4093.5| 2214 43| 1.849 | 10.4 1.675| 10
3X42 32 10117.5| 5704.3| 4413.2| 2204.43| 2.002 | 10.4 1.813] 95
3X92 33 10384.3| 5709.7| 4674.6| 2210.02| 2.115 | 10.4 1.916| 42
Ald d A 2015.06.13
ZleAdak B o 34
Ald A n¥s dH L
AR FT R EHe
A

KS F 2320:2000




u]

F o

RN G\ O\ T\ W\ W\ U W R W W §

.950
.940
.930
.920
910
.900
.890
.880
.870
.860
.850
.840
.830
.820
.810
.800
.790
.780
770
.760
.750
.740
.730
.720
.710
.700
.690
.680
.670
.660
.650

@)
o
X
dH
[x

Z A=Y E=X0.95 i
=1.936%0.95=1.839 o

™ N al
N N G

N ol
N 'l

y /a
5\

T
T
[
T
T
[
T
T
[
[
T
[
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
[
A VI
A %
LN
}
T
[
T
T
[
[
T
[
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
[
T
T
[
T
[
T
T
[
T
T
[
[
T
[
T
T
[
T
[
T
T
[
T
T
[
[
T
T
T
T
[
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
T
[
T
[
T
T
[
T
T
[
T
I

5 6 7 8 9101112131415161718192021 222324252627 2829 30 31 32 33 34 353637 3839 40 41 42 43 44 45
TdCBR



A 2 = 3 Y A F
= = H “1:].' A
Ad W 5 E176 A& o 2015.06.13
7 % 2 ¢ A wpely F Y
N B F R S(HESS A A pds A
vl ol &k
T8 %m‘?n)c’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
(iq 2 0 16.0 24.0 32.0 38.0 43.0 48.0 56.0 64.0 81.0 97.0
=] == ]_
O G e 0.8 1.2 1.6 1.9 2.9 2.4 2.9 3.3 4.1 4.9
(kg f/
=] == ]_1:
‘E}ﬁfm 0 0.0 0.120] o0.160] 0.190 0.215] 0.240] 0.280 0.320| 0.404] 0.484
fkg 2 0 29.0 48.0 68.0 gs.o] 108.0] 127.0 160.0| 190.0| 248.0] 299.0
=] == ]_
39 |SreeEl 1.5 2.4 3.5 4.5 5.5 6.5 8.2 9.7 12.6 15.2
(kg f/
=] == ]—I:
?Mﬁ/?n; 0 0.145| 0.240 0.310] 0.439] 0.53| 0.634] 0.799] 0.949| 1.238]  1.493
(Skg 2 0 28.0 50.0 76.0] 104.0 133.0 165.0 229.0 207.0| 397.0| 466.0
=] == ]—I:
0o |TrEEEl 1.4 2.5 3.9 5.3 6.8 8.4 11.7 15.1 20.2 93.7
(kg f/
sted=l 0.140] 0.250] 0.3%0 0.519] 0.664] 0.824| 1.144| 1.483] 1.982| 2.397
s . . . . . . . . . .
17 3 (2.5m) g'g <100 = 3.1% 5. Omm 100°33 <100 = 3.1%
42 3 (2.5m) g'g %100 = 7.8% 5. Omm 100°93 <100 = 9.2%
92 3 (2.5m) gg %100 = 9.6% 5. Omm 110°53 <100 = 14.4%
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1. HIES . HSHES AEZNE === £176
i MBS () (mm] 75 53 375 | 6.5 | 19 9.5 | 4.75 2 0.85 | 0.425 | 0.25 | 0.106 | 0.075
T | E=Ens%) | 100.0 | 100.0 | 100.0 | 99.3 | 97.8 | 95.0 | 91.9 | 85.3 | 78.0 | 57.8 | 48.4 39.9 34.6
— Z(MM)| 0.044 | 0.031 | 0.020 | 0.012 | 0.009 | 0.006 | 0.003 | 0.001 | 0.0001
3 -
IlHswg%) | 32.0 | 29.7 | 25.1 | 22.2 | 21.7 | 18.2 | 15.9 | 14.8 0
1
Q&7 s
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90.0 Zanl
s
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-rr //‘
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NEHS: E176 JlmAx : sl A
AIBI 2R 2015.06. 13 AER:ass dH 2
(= 7|7*IAIE+RJI)$31| : 692.02 ¢ E9|&<4Hl(w) : 11.1%
|2 : 577.00 g o9 (Gs) : 2.687
SIAZAZFA W, : 115.02 ¢ A% (PI) N.P =AM TAMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 114.90 ¢
P2.0(2Zd2.0mmolMS JIMSHE: 85.3%
1. ZIAXZAIZRO & 4:H SH(XSHEZH|)
NO @ 1 NO : 2 NO : 3
WW = 1107.9 WW = 1142.0 W =
DW = 1021.1 Tw = 203.9 oW = 1042.9 Tw = 179.8 oW = Tw =
Ww = 86.8 Ws = 817.2 Ww = 99.1 Ws = 863. 1 Ww = Ws =
= 10.6% = 11.5% W=
Yol o 11.1%
2. HISH A8
—x ZI DEAI 2 [EEE R EENEEE i o~ . M=o | EEOF
SN i) [F2ee r' |ssoimm| L/t N/ VB0 /oGsw) [Agezomn] —oNTE [EEATE THF PRSAE) oy
13:01 1 0.0250( 0.0250 121.0 121.0 11. 0010 0.0040 0.0437 25 0.0020f 0.0270 37.4% 32.0%
13:02 2 0.0230] 0.0230 124.9 62.4 7.9023 0.0040 0.0314 25 0.0020] 0.0250 34.6%  29.7%
13:05 5 0.0190f 0.0190 132.6 26.5 5.1503 0.0040 0.0204 25 0.0020f 0.0210 29. 1% 25.1%
13:15 15 0.0165] 0.0165 137.5 9.2 3.0273 0.0040 0.0120 25 0.0020] 0.0185 25.6%  22.2%
13:30 30 0.0160f 0.0160 138.4 4.6 2.1481 0.0040 0.0085 25 0.0020f 0.0180 24..9% 21.7%
14:00 60 0.0130] 0.0130 144.2 2.4 1.5505 0.0040 0.0062 25 0.0020] 0.0150 20.8%| 18.2%
17:00 240 0.0110f 0.0110 148. 1 0.6 0.7856 0.0040 0.0031 25 0.0020f 0.0130 18.0% 15.9%
13:00 1440 0.0100] 0.0100 150.0 0.1 0.3228 0.0040 0.0013 25 0.0020] 0.0120 16.6%  14.8%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) : SEM 1M & HAZTAIZR 2:2H 2o TOA =241.0507HXI 2 2 0l (mm) 10.87
Lb : 8 72 20| (mm) 136.84
1/(Ws/V)= 8.70 cm/g Gs/(Gs-0.99678)*rw 1.590 g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. MO8
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 437.3 447 .1 9.80 8.5% 8.5% 91.5% 78.0%
0.425mm(NO.40) 2 369.7 396.9 27.20 23.7% 32.2% 67.8% 57.8%
0.25mm(N0.60) 3 380.0 392.7 12.70 11.1% 43.3% 56.7% 48.4%
0.106mm(NO. 140) 4 345.1 356.5 11.40 9.9% 53.2% 46.8% 39.9%
0.075mm(NO.200) 5 355.5 362.6 7.10 6.2% 59.4% 40.6% 34.6%




FAUAMNE(H24 ANE)

NELEE €176 Jlsman ;o waa ¥ G
NEEDE 2015.06. 13 A8 X :2Ass A H D
_ NO 10RO LS Al2Z2 22 WD
MHAZO ZIAXD
HMARS So1AZ2H M) CAZAIZ AIZ2H W)
N
=R (MUBIIHEA2+E2]) 3799.2 g wi+EI)eH | 1,160.6 g
2712 754.0 g 2712 754.0 g
HAA 2O =IIAE2H W) 3045.2 g Wi 406.6 g
1. 2mmXl SUAI=9 &=H =3
NO 1 NO 2 NO
W 1155.8 W 1134.3 W
Dw 1063.3 Tw 180.1  Dw 1044.2  Tw 180.0  Dw
Wi ®5 W 883.2 Wi 9.1 Ws 864.2 W
W= 10.5% W= 10.4% W=
BRSAH 10.4%
2. BHAXAIZ2A(W0) = W/ (14w) 2757 .1
3. oAl SLHAEAIZSH W)= W2=Wo-W1 2350 5 g 2350.5
4. P2.0(UH2.0mUIMS IREDS)= W2/ W0 85.3% 82.7%

5. 2mmA 0l E2 Alg2 MEA

H ot 1 2 1 2=1/W0
75.0mm 1 437.10 437.10 0.00 0.0% 0.0% 100.0%
53.0mm 2 461.90 461.90 0.00 0.0% 0.0% 100.0%
37.5mm 3 471.60 471.60 0.00 0.0% 0.0% 100.0%
26.5mm 4 469.50 488.90 19.40 0.7% 0.7% 99.3%
19.0mm 5 456.80 499.20 42.40 1.5% 2.2% 97.8%
9.5mm 6 489.70 564 .80 75.10 2.7% 5.0% 95.0%
4.75mm 7 524.00 611.40 87.40 3.2% 8.1% 91.9%
2.0mm 8 431.10 613.40 182.30 6.6% 14.7% 85.3%

* AXZANERA: 406.60 g
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